RE=KEHSFER TEHEX

S=1:500

ZHAIRABEW=11. 2m
EZREEFRAKBEW=11. 2m EESRMEEW=7 . 8m
EEFZHR/IMEFEW=9. 6m

BESMAIER (BB w=0.15 L=64. gn

—

J 70, 1
NO.50 ||25.600  |yo 60

25.58 o
- — 25.46 (BRE DY)

— = > o ol _ n
2 > Xl 40
as A U B 5450 =% ®
= ©
25 &L L=0. 9m o
U ) l T %31 +25.32 B .41 .
- i
e 1”%?%%?}5? L=60. 6m :
’ N ’ = 7 n=4. 0& 1B&E (=7 6 S
T Wi o | amEm " R
3004100 DEAE | SRR | &noRmE BEAREE 1S L | GEBMEER) e
L5 O~ Log g P00 | 300100 GO0 ek et | SEOENE | adome
' ' o.om =8.0m =143 BREBLW =8 on % B300+500
al =0 L=8. Om L=7. 6 . =N
XEEE L=75m L=1.0m mM'+’| Eilﬂfﬁﬁiﬂ

" HEICEBOREEGSHE S

E & FRR294EE
Rilll4% EE=AKERFE
I1%4%

fi B BT =S
a4 FmEE

5 R| 1:500 | EEES
fHERA| TR & A H
41t 4| HISHFFaUHLEVE

Z)IR S L REHFT



